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1 (1) (x+ 1)(x− 2) + x(3x+ 1) = x2 − x− 2 + 3x2 + x = 4x2 − 2

(2) 4x2 − 49y2 = (2x+ 7y)(2x− 7y)

(3) x2 − 4x− 6 = 0. x =
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(5) y = ax2, x = 4のとき y = −4より −4 = a · 42. よって a = − 1
4
. y = − 1
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2 (6) x2 = 32 + 22 = 13. x =
√
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(7) 4 : x = 3 : 2よって 3x = 8 x = 8
3

(8) (x+ 2)3 = x3 + 6x2 + 12x+ 8

(9) x2 + xy + x+ y = (x+ 1)y + x2 + x = (x+ 1)y + x(x+ 1) = (x+ 1)(x+ y)
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3 (11) y = −x2 + 4x = −(x2 − 4x) = −(x− 2)2 + 4. 頂点の座標は (2, 4)

(12) 5C2 − 5C1 = 5 · 4
2 · 1 − 5 = 10− 5 = 5

(13) x : 4 = 5 : 2より 2x = 20 x = 10

(14) 1⃝ cos2 θ + sin2 θ = 1より sin2 θ = 1−
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2⃝ tan θ = sin θ
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(15) 1⃝ A ∩B = {1, 2, 8}

2⃝ A ∪B = {1, 2, 3, 4, 5, 8, 16} 個数は 7個


